Assembly Instructions for 4°, 5°, 6, 8°, & 10’

Red Cedar Cross Legged Picnic Tables

The item can be found on
www. CedarwoodFurniture.com

Call 87 7-595-853 7 to order

Step 1 Lay out and identify all parts.

Step 2 Take the table top and lay it upside down on a
flat clean surface (we recommend using the box
that the top was shipped in for a flat and clean
surface).

X

Take the table legs and attach them to the top of .
the table. Be sure the braces face the inside of , o
the table top _‘ Vi
i M |
Step 3 Line up the predrilled holes and tap a hex bolt _|
through them. If the holes aren't lining up, loosen the two nuts on the leg to allow for play. Once aligned, put
on a washer and nut and tighten.

Step 4 Next, take a lag bolt and twist it into the brace and into the underside of the table top and into the leg and
then do the same with the other leg.

Step 5 Set your table upright and lay the benches on top of the table upside down. Follow the same procedure as
in Steps 1-4 with the smaller legs for assembling the benches.

NOTE: Braces forthe 4 foot table will have different angles in order to accommodate an umbrella pole.

NOTE: Due to product vaniations, the parts list may be different than what you actually receive with your product.

Parts List Hardware Required Tools
Table Top (1) 12 - 1/4" X 2-1/2" Lag Bolts 1/4" Socket Wrench
Bench Top (2) 12 - 1/4" x 3" Hex Bolts Hammer

Table Leg Assembly (2) 12 - 1/4" Hex Nuts

Bench Leg Assembly (4) 12 - Small Washers

Braces (6) 24 —1/4" X 1" Fender Washers

Fully Assembled Table and Benches

5 Foot Table Shown Above

5/21/08


Vanessa
Stamp


The item can be found on

|nStrUCUOnS fOI‘ 4,, 5,, 6,, 8,, 10, Redcedar BaCkleSS Benches woww, CedanwaodFUrniture. com

Call 877-595-8537 to order

— — m N Tools Requ
00 o -7/16” Soc|

Wrench
-#2 Squarel
(included)
/o ° ° A -Hammer fo
and screws
— — —
_ Parts List
Bench Top - Bottom View
= Leg Assembly Side View Bench Piece:
e - - 1 Bench Top
Lay the bench top upside down on a clean flat surface. Place each
_ 2 Leg Assenl
leg assembly on the inner edge of the 2x2 top support and fasten 5 Braces
with a 3” hex bolt (placing a washer at each end of the bolt).
Please be sure thg_leg assembly Is square with §D§ bench top. Hardware
2 37 x 1/4
4 2 1/2 x |
2 1/4” Hex
4 1 1/4” F
| S— TIIII}] 4 1/4” Sma
- (for Lag
F KEY
- Hex B
_o M /£ oo_ﬁ Hex L:
= Nut
Stzep 2 sl
Use the 2 1/2” lag screws to attach the angled braces, making sure Predri
to place a small washer at the top of each screw.
Step 3
Turn the bench upright. Tighen the screws and/or bolts i1f necces- *We have foun
sary. easier to sta

tapping it on


Vanessa
Stamp


	cedar-27-inch-wide-4-foot-backyard-bash-cross-legged-picnic-table-with-detached-benches
	d

